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ا:------  اا  تا  

  ب واا  

را:-----  

1
 
 
 
 
 
 
 
 
 
 
 

2

9  0 = ____ 
 

3  ____ = 187  8 = ____ 

0  3  8 = ____ 
 

4  ____ = 164  9 = ____ 

12  ____ = 12 8  ____ = 246  6 = ____ 

9  ____ = 05  6  1 = ____1  ____ = 15

3

40  20 = _____ 70   30 = ____ 

60  50 = _____ 40  9 = _____ 
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4
19 : 2 = ______               (        )
 
26 : 3 = ______             (        )
 
39 : 4 = ______             (        )
 
55 : 5 = ______             (        )
 
72 : 8 = ______             (        )

5

6

12 X 4 =  (  ___ X ____ )  +  ( ____ X ____ ) = ______ 

 

17 X 3 =  (  ___ X ____ )  +  ( ____ X ____ ) = ______ 
 

29 X 2 =  (  ___ X ____ )  +  ( ____ X ____ ) = ______ 
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 6 0 

×   

 2 1 

   

   
 

 1 3 

×   

 6 0 

   

   
 

  2 7 

 x   

  2 8 

    

    
 

 3 5 

×   

 1 5 

   

   
 

  

×  

  

   

   
 

82 2 
92 4 23 2 

15 9 
25 4 93 5 
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  . 12ً رف، و  رف     6-أ

ً    ؟  

ا:  

  

  .____________________________________________ :ااب

  

--------------------------  

  .ط ح 16 ااة   اُ-ب

ً   5ُ ؟  

ا:  

  

  .____________________________________________ :ااب

  

--------------------------  

  

  . 35 ااة   اّ-ج

   3ل؟   

ا:  

  

  .____________________________________________ :ااب

  

   ً  أه
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